

A NOTE ON FOURTH POWER MEAN OF THE GENERAL TWO-TERM EXPONENTIAL SUMS

YAYA MU and TIANPING ZHANG*

Communicated by Lucian Beznea

Let q, m, n be any integer with $q \geq 3$, and λ a Dirichlet character mod q . An explicit formula for the fourth power mean

$$\sum_{\substack{m=1 \\ (m,q)=1}}^q \left| \sum_{a=1}^q \lambda(a) e\left(\frac{ma^3 + na}{q}\right) \right|^4$$

is derived. Previously, only the prime modulus $q = p$ case was studied.

AMS 2020 Subject Classification: 11L05, 11L03.

Key words: general two-term exponential sums, fourth power mean, Gauss sums, explicit formula.

1. INTRODUCTION AND MAIN RESULTS

Let $q \geq 3$ be a positive integer. For any integers m and n , the generalized two-term exponential sums $G(m, n, \lambda; q)$ are defined by

$$G(m, n, \lambda; q) = \sum_{a=1}^q \lambda(a) e\left(\frac{ma^3 + na}{q}\right),$$

where $e(y) = e^{2\pi i y}$, λ denotes a Dirichlet character mod q .

H. Zhang and W. P. Zhang [11] studied the fourth power mean of sums $G(m, n, \lambda; q)$ in the prime modulus case $q = p$, with $\lambda = \lambda_0$ the principal character mod p , and derived the identity

$$\sum_{m=1}^{p-1} \left| \sum_{a=0}^{p-1} e\left(\frac{ma^3 + na}{p}\right) \right|^4 = \begin{cases} 2p^3 - p^2 & \text{if } 3 \nmid (p-1); \\ 2p^3 - 7p^2 & \text{if } 3 \mid (p-1), \end{cases}$$

where $(n, p) = 1$.

This work was supported by the National Natural Science Foundation of China (Nos. 11871317, 12271320), and the Natural Science Basic Research Plan for Distinguished Young Scholars in Shaanxi Province of China (No. 2021JC-29).

*Corresponding author

MATH. REPORTS **27(77)** (2025), 1-2, 1-15

doi: 10.59277/mrar.2025.27.77.1.2.1

For the prime modulus case with $(3, p-1) = 1$, R. Duan and W. P. Zhang obtained in [5] an exact computational formula as

$$(1.1) \quad \sum_{m=1}^{p-1} \left| \sum_{a=1}^{p-1} \lambda(a) e\left(\frac{ma^3 + na}{p}\right) \right|^4 = \begin{cases} 2p^3 - 3p^2 - 3p - 1 & \text{if } \lambda = \lambda_0; \\ 3p^3 - 8p^2 & \text{if } \lambda = \left(\frac{*}{p}\right); \\ 2p^3 - 7p^2 & \text{if } \lambda \neq \lambda_0, \left(\frac{*}{p}\right), \end{cases}$$

where p is an odd prime, $(n, p) = 1$ and $\left(\frac{*}{p}\right)$ denotes the Legendre symbol mod p .

On the basis of [5], T. T. Wang [8] discussed the case of $p \equiv 1 \pmod{3}$ and obtained

$$\sum_{m=1}^{p-1} \left| \sum_{a=1}^{p-1} \lambda(a) e\left(\frac{ma^3 + na}{p}\right) \right|^4 = \begin{cases} 2p^3 - 5p^2 - 15p + 4dp - 1 & \text{if } \lambda = \chi_0; \\ 2p^3 - 11p^2 - 2p \cdot M(\lambda, \psi) & \text{if } \lambda = \chi^3; \\ 3p^3 - 12p^2 - 2p \cdot M(\lambda, \psi) & \text{if } \lambda = \left(\frac{*}{p}\right); \\ 2p^3 - 5p^2 & \text{otherwise,} \end{cases}$$

where d and b are uniquely determined by $4p = d^2 + 27b^2$ and $d \equiv 1 \pmod{3}$, χ is a non-real character mod p , ψ is a third-order character mod p and $M(\lambda, \psi)$ is defined as

$$M(\lambda, \psi) = \left| \sum_{a=1}^{p-1} \lambda(a) \psi(a^3 - 1) \right|^2.$$

Various other related properties of $G(m, n, \lambda; q)$ can be found in [1]–[14], and the references therein.

Naturally, the above questions and results render us to consider the fourth power mean of the generalized two-term exponential sums

$$\sum_{\substack{m=1 \\ (m,q)=1}}^q \left| \sum_{a=1}^q \lambda(a) e\left(\frac{ma^3 + na}{q}\right) \right|^4,$$

where $\sum_{\substack{m=1 \\ (m,q)=1}}^q$ denotes the summation over all integers $1 \leq m \leq q$ such that $(m, q) = 1$, and n is any integer with $(n, q) = 1$.

As far as we know, these questions and related results have never been addressed in the literature. Our interest is focused on finding an explicit formula for arbitrary modulus q . Until now, this goal can be achieved with a small step forward. Due to some technical reasons, our methods only work for the canonical representation of q being known. That is,

$$q = p_1^{\alpha_1} p_2^{\alpha_2} \cdots p_k^{\alpha_k} \text{ with } (3, p_i - 1) = 1 \ (1 \leq i \leq k),$$

and λ denotes any primitive character mod q . We have

THEOREM 1.1. *Let $p > 3$ be a prime with $(3, p-1) = 1$, α be a positive integer with $\alpha \geq 2$, n be any integer with $(n, p) = 1$. Then for any primitive character $\lambda \bmod p^\alpha$, we have*

$$\sum_{\substack{m=1 \\ (m,p)=1}}^{p^\alpha} \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^4 = p^{2\alpha} \phi(p^\alpha) \left(\alpha + 1 - \frac{5}{p-1} \right).$$

Theorem 1.1 and (1.1) immediately imply the following corollary.

COROLLARY 1.2. *Let $q > 3$ be an odd number with integer $q = NM$ and $(N, M) = 1$, where we have the prime power decompositions $N = p_1 p_2 \cdots p_s$ and $M = p_{s+1}^{\alpha_1} p_{s+2}^{\alpha_2} \cdots p_{s+k}^{\alpha_k}$ with $3 \nmid M$ and $(3, p_i - 1) = 1$ ($1 \leq i \leq s+k$). Let n be any integer with $(n, q) = 1$, $\left(\frac{*}{p_i}\right)$ denote the Legendre symbol mod p_i ($1 \leq i \leq s$), λ_j denote any non-real primitive character mod $p_{s+j}^{\alpha_j}$ with $\alpha_j \geq 1$ ($1 \leq j \leq k$). Then for the primitive character $\lambda = \left(\frac{*}{p_1}\right) \left(\frac{*}{p_2}\right) \cdots \left(\frac{*}{p_s}\right) \lambda_1 \lambda_2 \cdots \lambda_k$, we have*

$$\sum_{\substack{m=1 \\ (m,q)=1}}^q \left| \sum_{a=1}^q \lambda(a) e\left(\frac{ma^3 + na}{q}\right) \right|^4 = q^2 \prod_{p|N} (3p-8) \prod_{p^\alpha || M} \left(\phi(p^\alpha) \left(\alpha + 1 - \frac{5}{p-1} \right) \right),$$

where $p^\alpha || q$ denotes that $p^\alpha | q$ and $p^{\alpha+1} \nmid q$.

2. SOME LEMMAS

To prove our theorem, we need the following several lemmas.

LEMMA 2.1. *Let $p > 3$ be a prime with $(3, p-1) = 1$, α be a positive integer with $\alpha \geq 2$, n be any integer n with $(n, p) = 1$. If λ is a primitive character mod p^α , we have*

$$\sum_{\substack{m=1 \\ (m,p)=1}}^{p^\alpha} \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 = p^{2\alpha} - 2p^{2\alpha-1}.$$

Proof. By the properties of the reduced residue system mod p^α , we have

$$\begin{aligned} & \sum_{\substack{m=1 \\ (m,p)=1}}^{p^\alpha} \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\ &= \sum_{a=1}^{p^\alpha} \sum_{b=1}^{p^\alpha} \lambda(a\bar{b}) \sum_{\substack{m=1 \\ (m,p)=1}}^{p^\alpha} e\left(\frac{m(a^3 - b^3) + n(a - b)}{p^\alpha}\right) \end{aligned}$$

$$\begin{aligned}
&= \sum_{a=1}^{p^\alpha} \lambda(a) \sum_{\substack{m=1 \\ (m,p)=1}}^{p^\alpha} \sum_{\substack{b=1 \\ (b,p)=1}}^{p^\alpha} e\left(\frac{mb^3(a^3-1) + nb(a-1)}{p^\alpha}\right) \\
(2.1) \quad &= \sum_{a=1}^{p^\alpha} \lambda(a) \left(\sum_{\substack{m=1 \\ (m,p)=1}}^{p^\alpha} e\left(\frac{m(a^3-1)}{p^\alpha}\right) \right) \left(\sum_{\substack{b=1 \\ (b,p)=1}}^{p^\alpha} e\left(\frac{b(a-1)}{p^\alpha}\right) \right).
\end{aligned}$$

Note that the trigonometric identity

$$(2.2) \quad \sum_{m=1}^q e\left(\frac{nm}{q}\right) = \begin{cases} q, & \text{if } q|n; \\ 0, & \text{if } q \nmid n, \end{cases}$$

if $(n, p) = 1$ and $\alpha \geq 2$, we have

$$(2.3) \quad \sum_{\substack{m=1 \\ (m,p)=1}}^{p^\alpha} e\left(\frac{nm}{p^\alpha}\right) = \sum_{m=1}^{p^\alpha} e\left(\frac{nm}{p^\alpha}\right) - \sum_{m=1}^{p^{\alpha-1}} e\left(\frac{nm}{p^{\alpha-1}}\right) = 0.$$

According to (2.3), (2.1) is not 0 if and only if $p^{\alpha-1} | (a-1)$. From the properties of Gauss sums mod p^α , we have

$$\begin{aligned}
&\sum_{\substack{m=1 \\ (m,p)=1}}^{p^\alpha} \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\
&= \phi^2(p^\alpha) + \sum_{r=1}^{p-1} \lambda(rp^{\alpha-1} + 1) \left(\sum_{\substack{m=1 \\ (m,p)=1}}^{p^\alpha} e\left(\frac{3rm}{p}\right) \right) \left(\sum_{\substack{b=1 \\ (b,p)=1}}^{p^\alpha} e\left(\frac{rb}{p}\right) \right) \\
&= \phi^2(p^\alpha) + p^{2(\alpha-1)} \sum_{r=1}^{p-1} \lambda(rp^{\alpha-1} + 1) \\
&= \phi^2(p^\alpha) + \frac{p^{2(\alpha-1)}}{\tau(\bar{\lambda})} \sum_{a=1}^{p^\alpha} \bar{\lambda}(a) \sum_{r=1}^{p-1} e\left(\frac{a(rp^{\alpha-1} + 1)}{p^\alpha}\right) \\
&= \phi^2(p^\alpha) + \frac{p^{2(\alpha-1)}}{\tau(\bar{\lambda})} \sum_{a=1}^{p^\alpha} \bar{\lambda}(a) e\left(\frac{a}{p^\alpha}\right) \sum_{r=1}^{p-1} e\left(\frac{ar}{p}\right) \\
&= \phi^2(p^\alpha) - \frac{p^{2(\alpha-1)}}{\tau(\bar{\lambda})} \sum_{a=1}^{p^\alpha} \bar{\lambda}(a) e\left(\frac{a}{p^\alpha}\right) = p^{2\alpha} - 2p^{2\alpha-1}.
\end{aligned}$$

This proves Lemma 2.1. $\square$

LEMMA 2.2. *Let $p > 3$ be a prime with $(3, p-1) = 1$, α be a positive integer with $\alpha \geq 2$, n be any integer n with $(n, p) = 1$, β be an integer with*

$1 \leq \beta \leq \frac{1}{2}\alpha$. If λ is a primitive character mod p^α , for any primitive character χ mod p^β , we have

$$\begin{aligned} & \left| \sum_{m=1}^{p^\alpha} \chi(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \right|^2 \\ &= \begin{cases} p^{4\alpha-\beta} & \text{if } \chi \text{ is a non-real character mod } p^\beta; \\ p^{4\alpha-2} & \text{if } \beta = 1 \text{ and } \chi = \chi_2 \text{ is the Legendre symbol mod } p. \end{cases} \end{aligned}$$

Proof. By the properties of the reduced residue system mod p^α , we have

$$\begin{aligned} (2.4) \quad & \sum_{m=1}^{p^\alpha} \chi(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\ &= \sum_{m=1}^{p^\alpha} \chi(m) \sum_{\substack{b=1 \\ (b,p)=1}}^{p^\alpha} \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{mb^3(a^3 - 1) + nb(a - 1)}{p^\alpha}\right) \\ &= \chi^3(n) \sum_{m=1}^{p^\alpha} \chi(m) \sum_{\substack{b=1 \\ (b,p)=1}}^{p^\alpha} \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{mn^3b^3(a^3 - 1) + nb(a - 1)}{p^\alpha}\right) \\ &= \chi^3(n) \sum_{a=1}^{p^\alpha} \lambda(a) \left(\sum_{m=1}^{p^\alpha} \chi(m) e\left(\frac{m(a^3 - 1)}{p^\alpha}\right) \right) \left(\sum_{b=1}^{p^\alpha} \bar{\chi}^3(b) e\left(\frac{b(a - 1)}{p^\alpha}\right) \right). \end{aligned}$$

Since χ is a primitive character mod p^β , we have

$$\begin{aligned} \sum_{m=1}^{p^\alpha} \chi(m) e\left(\frac{m(a^3 - 1)}{p^\alpha}\right) &= \sum_{r=0}^{p^{\alpha-\beta}-1} \sum_{s=1}^{p^\beta} \chi(rp^\beta + s) e\left(\frac{(rp^\beta + s)(a^3 - 1)}{p^\alpha}\right) \\ &= \sum_{s=1}^{p^\beta} \chi(s) e\left(\frac{s(a^3 - 1)}{p^\alpha}\right) \sum_{r=0}^{p^{\alpha-\beta}-1} e\left(\frac{r(a^3 - 1)}{p^{\alpha-\beta}}\right). \end{aligned}$$

According to (2.2), we know that if (2.4) is not 0, then $p^{\alpha-\beta} | (a^3 - 1)$ holds. If $a^3 - 1 = kp^\gamma$ with $(k, p) = 1$ and $\alpha - \beta \leq \gamma < \alpha$, we have

$$\begin{aligned} \sum_{m=1}^{p^\alpha} \chi(m) e\left(\frac{m(a^3 - 1)}{p^\alpha}\right) &= p^{\alpha-\beta} \sum_{s=1}^{p^\beta} \chi(s) e\left(\frac{sk}{p^{\alpha-\gamma}}\right) \\ &= \begin{cases} p^{\alpha-\beta} \tau(\chi, p^\beta) \bar{\chi}\left(\frac{a^3-1}{p^{\alpha-\beta}}\right) & \text{if } \gamma = \alpha - \beta; \\ 0 & \text{if } \alpha - \beta < \gamma < \alpha, \end{cases} \end{aligned}$$

where $\tau(\chi, p^\beta) = \sum_{a=1}^{p^\beta} \chi(a)e\left(\frac{a}{p^\beta}\right)$. If $\gamma = \alpha$, similarly, we have

$$\sum_{m=1}^{p^\alpha} \chi(m)e\left(\frac{m(a^3-1)}{p^\alpha}\right) = p^{\alpha-\beta} \sum_{s=1}^{p^\beta} \chi(s) = 0.$$

So we get

$$(2.5) \quad \sum_{m=1}^{p^\alpha} \chi(m)e\left(\frac{m(a^3-1)}{p^\alpha}\right) = \begin{cases} p^{\alpha-\beta} \tau(\chi, p^\beta) \bar{\chi}\left(\frac{a^3-1}{p^{\alpha-\beta}}\right) & \text{if } p^{\alpha-\beta} \mid (a^3-1); \\ 0, & \text{otherwise.} \end{cases}$$

Since $p > 3$ is a prime with $(3, p-1) = 1$, $\bar{\chi}^3$ is also a primitive character mod p^β . Then

$$(2.6) \quad \begin{aligned} \sum_{b=1}^{p^\alpha} \bar{\chi}^3(b)e\left(\frac{b(a-1)}{p^\alpha}\right) &= \sum_{r=0}^{p^{\alpha-\beta}-1} \sum_{s=1}^{p^\beta} \bar{\chi}^3(rp^\beta + s)e\left(\frac{(rp^\beta + s)(a-1)}{p^\alpha}\right) \\ &= \sum_{s=1}^{p^\beta} \bar{\chi}^3(s)e\left(\frac{s(a-1)}{p^\alpha}\right) \sum_{r=0}^{p^{\alpha-\beta}-1} e\left(\frac{r(a-1)}{p^{\alpha-\beta}}\right) \\ &= \begin{cases} p^{\alpha-\beta} \tau(\bar{\chi}^3, p^\beta) \chi^3\left(\frac{a-1}{p^{\alpha-\beta}}\right) & \text{if } p^{\alpha-\beta} \mid (a-1); \\ 0 & \text{otherwise.} \end{cases} \end{aligned}$$

Noting that $2\beta \leq \alpha$ and

$$\bar{\chi}(r^3 p^{2(\alpha-\beta)} + 3r^2 p^{\alpha-\beta} + 3r) = \bar{\chi}(3r),$$

from (2.4)–(2.6), we immediately deduce

$$(2.7) \quad \begin{aligned} &\sum_{m=1}^{p^\alpha} \chi(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a)e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\ &= p^{2(\alpha-\beta)} \chi^3(n) \sum_{\substack{a=1 \\ p^{\alpha-\beta} \mid (a-1)}}^{p^\alpha} \lambda(a) \tau(\chi, p^\beta) \bar{\chi}\left(\frac{a^3-1}{p^{\alpha-\beta}}\right) \tau(\bar{\chi}^3, p^\beta) \chi^3\left(\frac{a-1}{p^{\alpha-\beta}}\right) \\ &= p^{2(\alpha-\beta)} \chi^3(n) \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1) \chi^3(r) \bar{\chi}(r^3 p^{2(\alpha-\beta)} + 3r^2 p^{\alpha-\beta} + 3r) \\ &\quad \times \tau(\chi, p^\beta) \tau(\bar{\chi}^3, p^\beta) \\ &= p^{2(\alpha-\beta)} \chi^3(n) \bar{\chi}(3) \tau(\chi, p^\beta) \tau(\bar{\chi}^3, p^\beta) \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \chi^2(r) \lambda(rp^{\alpha-\beta} + 1). \end{aligned}$$

If χ is a non-real character mod p^β , from (2.7) and the properties of Gauss sums, we have

$$\begin{aligned}
& \sum_{m=1}^{p^\alpha} \chi(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\
&= p^{2(\alpha-\beta)} \chi^3(n) \bar{\chi}(3) \tau(\chi, p^\beta) \tau(\bar{\chi}^3, p^\beta) \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \frac{\chi^2(r)}{\tau(\bar{\lambda}, p^\alpha)} \sum_{b=1}^{p^\alpha} \bar{\lambda}(b) e\left(\frac{b(rp^{\alpha-\beta} + 1)}{p^\alpha}\right) \\
&= p^{2(\alpha-\beta)} \chi^3(n) \bar{\chi}(3) \frac{\tau(\chi, p^\beta) \tau(\bar{\chi}^3, p^\beta)}{\tau(\bar{\lambda}, p^\alpha)} \sum_{b=1}^{p^\alpha} \bar{\lambda}(b) e\left(\frac{b}{p^\alpha}\right) \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \chi^2(r) e\left(\frac{br}{p^\beta}\right) \\
&= p^{2(\alpha-\beta)} \chi^3(n) \bar{\chi}(3) \frac{\tau(\chi, p^\beta) \tau(\bar{\chi}^3, p^\beta) \tau(\chi^2, p^\beta)}{\tau(\bar{\lambda}, p^\alpha)} \sum_{b=1}^{p^\alpha} \bar{\lambda}(b) \bar{\chi}^2(b) e\left(\frac{b}{p^\alpha}\right) \\
&= p^{2(\alpha-\beta)} \chi^3(n) \bar{\chi}(3) \frac{\tau(\chi, p^\beta) \tau(\bar{\chi}^3, p^\beta) \tau(\chi^2, p^\beta) \tau(\bar{\lambda} \bar{\chi}^2, p^\alpha)}{\tau(\bar{\lambda}, p^\alpha)}.
\end{aligned}$$

Since χ , χ^2 and $\bar{\chi}^3$ are the primitive character mod p^β , $\bar{\lambda}$ and $\bar{\lambda} \bar{\chi}^2$ are the primitive character mod p^α , we have

$$(2.8) \quad \left| \sum_{m=1}^{p^\alpha} \chi(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \right|^2 = p^{4\alpha-\beta}.$$

If $\beta = 1$ and $\chi = \chi_2$ is the Legendre symbol mod p , we have

$$\begin{aligned}
& \sum_{m=1}^{p^\alpha} \chi_2(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\
&= p^{2(\alpha-1)} \chi_2(n) \chi_2(3) \tau^2(\chi_2, p) \sum_{r=1}^{p-1} \lambda(rp^{\alpha-1} + 1) \\
&= p^{2(\alpha-1)} \chi_2(n) \chi_2(3) \tau^2(\chi_2, p) \left(\sum_{r=0}^{p-1} \lambda(rp^{\alpha-1} + 1) - 1 \right) \\
&= -p^{2(\alpha-1)} \chi_2(n) \chi_2(3) \tau^2(\chi_2, p),
\end{aligned}$$

where we have used the identity

$$(2.9) \quad \sum_{r=0}^{p-1} \lambda(rp^{\alpha-1} + u) = \frac{1}{\tau(\bar{\lambda})} \sum_{b=1}^{p^\alpha} \bar{\lambda}(b) e\left(\frac{bu}{p^\alpha}\right) \sum_{r=0}^{p-1} e\left(\frac{br}{p}\right) = 0.$$

So we have

$$(2.10) \quad \left| \sum_{m=1}^{p^\alpha} \chi_2(m) \right| \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 = p^{4\alpha-2}.$$

Now Lemma 2.2 follows from (2.8) and (2.10). $\square$

LEMMA 2.3. *Let $p > 3$ be a prime with $(3, p-1) = 1$, α be a positive integer with $\alpha \geq 3$, n be any integer n with $(n, p) = 1$, β be an integer with $\frac{1}{2}\alpha < \beta < \alpha$. If λ is a primitive character mod p^α , for any primitive character χ mod p^β , we have*

$$\sum_{\chi \bmod p^\beta}^* \left| \sum_{m=1}^{p^\alpha} \chi(m) \right| \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 = p^{4\alpha-2\beta} \phi^2(p^\beta),$$

where $\sum_{\chi \bmod p^\beta}^*$ denotes the summation over all primitive characters of type mod p^β .

Proof. From the method of proving (2.7), the orthogonality of the characters mod p^β and the properties of primitive characters mod p^β , we have

$$\begin{aligned} & \sum_{\chi \bmod p^\beta}^* \left| \sum_{m=1}^{p^\alpha} \chi(m) \right| \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\ &= p^{4\alpha-2\beta} \sum_{\chi \bmod p^\beta}^* \left| \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1) \chi^3(r) \overline{\chi}(r^3 p^{2(\alpha-\beta)} + 3r^2 p^{\alpha-\beta} + 3r) \right|^2 \\ &= p^{4\alpha-2\beta} \sum_{\chi \bmod p^\beta}^* \left| \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1) \overline{\chi}(p^{2(\alpha-\beta)} + 3\overline{r} p^{\alpha-\beta} + 3\overline{r}^2) \right|^2 \\ &= p^{4\alpha-2\beta} \sum_{\chi \bmod p^\beta} \left| \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1) \overline{\chi}(p^{2(\alpha-\beta)} + 3\overline{r} p^{\alpha-\beta} + 3\overline{r}^2) \right|^2 \\ &\quad - p^{4\alpha-2\beta} \sum_{\chi \bmod p^{\beta-1}} \left| \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1) \overline{\chi}(p^{2(\alpha-\beta)} + 3\overline{r} p^{\alpha-\beta} + 3\overline{r}^2) \right|^2 \\ &= p^{4\alpha-2\beta} \phi^2(p^\beta) + p^{4\alpha-2\beta} \phi(p^\beta) \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \sum_{\substack{s=1 \\ (s,p)=1}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1) \overline{\lambda}(sp^{\alpha-\beta} + 1) \\ &\quad r s p^{\alpha-\beta} + r + s \equiv 0 \pmod{p^\beta} \end{aligned}$$

$$\begin{aligned}
& -p^{4\alpha-2\beta}\phi(p^{\beta-1}) \sum_{\substack{r=1 \\ (r,p)=1 \\ s \equiv r \pmod{p^{\beta-1}}}}^{p^\beta} \sum_{\substack{s=1 \\ (s,p)=1}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1)\bar{\lambda}(sp^{\alpha-\beta} + 1) \\
(2.11) \quad & -p^{4\alpha-2\beta}\phi(p^{\beta-1}) \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \sum_{\substack{s=1 \\ (s,p)=1 \\ rsp^{\alpha-\beta}+r+s \equiv 0 \pmod{p^{\beta-1}}}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1)\bar{\lambda}(sp^{\alpha-\beta} + 1),
\end{aligned}$$

where $\bar{r}$ denotes the multiplicative inverse of $r \pmod{p^\beta}$ (that is $r\bar{r} \equiv 1 \pmod{p^\beta}$).

Then we show that the values of the above last three terms are all zero.

Since λ is a primitive character mod p^α , λ^2 is also a primitive character mod p^α . At the same time, we have

$$\begin{aligned}
p^\beta | (rsp^{\alpha-\beta} + r + s) & \Leftrightarrow p^\alpha | (rp^{\alpha-\beta} \cdot sp^{\alpha-\beta}) + (rp^{\alpha-\beta} + sp^{\alpha-\beta}) \\
& \Leftrightarrow (rp^{\alpha-\beta} + 1)(sp^{\alpha-\beta} + 1) \equiv 1 \pmod{p^\alpha}.
\end{aligned}$$

Therefore, we have

$$\begin{aligned}
& \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \sum_{\substack{s=1 \\ (s,p)=1 \\ rsp^{\alpha-\beta}+r+s \equiv 0 \pmod{p^\beta}}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1)\bar{\lambda}(sp^{\alpha-\beta} + 1) \\
& = \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} \lambda^2(rp^{\alpha-\beta} + 1) \\
& = \frac{1}{\tau(\bar{\lambda}^2)} \sum_{b=1}^{p^\alpha} \bar{\lambda}^2(b) \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} e\left(\frac{b(rp^{\alpha-\beta} + 1)}{p^\alpha}\right) \\
(2.12) \quad & = \frac{1}{\tau(\bar{\lambda}^2)} \sum_{b=1}^{p^\alpha} \bar{\lambda}^2(b) e\left(\frac{b}{p^\alpha}\right) \sum_{\substack{r=1 \\ (r,p)=1}}^{p^\beta} e\left(\frac{br}{p^\beta}\right) = 0.
\end{aligned}$$

From the properties of reduced residue system mod $p^{\beta-1}$, we have

$$\sum_{\substack{r=1 \\ (r,p)=1 \\ s \equiv r \pmod{p^{\beta-1}}}}^{p^\beta} \sum_{\substack{s=1 \\ (s,p)=1}}^{p^\beta} \lambda(rp^{\alpha-\beta} + 1)\bar{\lambda}(sp^{\alpha-\beta} + 1)$$

$$\begin{aligned}
&= \sum_{\substack{u=1 \\ (u,p)=1}}^{p^{\beta-1}} \sum_{r=0}^{p-1} \sum_{s=0}^{p-1} \lambda((rp^{\beta-1} + u)p^{\alpha-\beta} + 1) \bar{\lambda}((sp^{\beta-1} + u)p^{\alpha-\beta} + 1) \\
&= \sum_{\substack{u=1 \\ (u,p)=1}}^{p^{\beta-1}} \sum_{r=0}^{p-1} \lambda(rp^{\alpha-1} + up^{\alpha-\beta} + 1) \sum_{s=0}^{p-1} \bar{\lambda}(sp^{\alpha-\beta} + up^{\alpha-\beta} + 1),
\end{aligned}$$

and

$$\begin{aligned}
&\sum_{\substack{r=1 \\ (r,p)=1}}^{p^{\beta}} \sum_{\substack{s=1 \\ (s,p)=1}}^{p^{\beta}} \lambda(rp^{\alpha-\beta} + 1) \bar{\lambda}(sp^{\alpha-\beta} + 1) \\
&\quad r sp^{\alpha-\beta} + r + s \equiv 0 \pmod{p^{\beta-1}} \\
&= \sum_{\substack{u=1 \\ (u,p)=1}}^{p^{\beta-1}} \sum_{\substack{v=1 \\ (v,p)=1}}^{p^{\beta-1}} \sum_{r=0}^{p-1} \sum_{s=0}^{p-1} \lambda((rp^{\beta-1} + u)p^{\alpha-\beta} + 1) \bar{\lambda}((sp^{\beta-1} + v)p^{\alpha-\beta} + 1) \\
&\quad uvp^{\alpha-\beta} + u + v \equiv 0 \pmod{p^{\beta-1}} \\
&= \sum_{\substack{u=1 \\ (u,p)=1}}^{p^{\beta-1}} \sum_{\substack{v=1 \\ (v,p)=1}}^{p^{\beta-1}} \sum_{r=0}^{p-1} \lambda(rp^{\alpha-1} + up^{\alpha-\beta} + 1) \sum_{s=0}^{p-1} \bar{\lambda}(sp^{\alpha-1} + vp^{\alpha-\beta} + 1). \\
&\quad uvp^{\alpha-\beta} + u + v \equiv 0 \pmod{p^{\beta-1}}
\end{aligned}$$

Note that by the identity

$$\begin{aligned}
&\sum_{r=0}^{p-1} \lambda(rp^{\alpha-1} + up^{\alpha-\beta} + 1) \\
&= \frac{1}{\tau(\bar{\lambda})} \sum_{b=1}^{p^{\alpha}} \bar{\lambda}(b) \sum_{r=0}^{p-1} e\left(\frac{b(rp^{\alpha-1} + up^{\alpha-\beta} + 1)}{p^{\alpha}}\right) \\
&= \frac{1}{\tau(\bar{\lambda})} \sum_{b=1}^{p^{\alpha}} \bar{\lambda}(b) e\left(\frac{b(up^{\alpha-\beta} + 1)}{p^{\alpha}}\right) \sum_{r=0}^{p-1} e\left(\frac{br}{p}\right) = 0,
\end{aligned}$$

we have

$$(2.13) \quad \sum_{\substack{r=1 \\ (r,p)=1}}^{p^{\beta}} \sum_{\substack{s=1 \\ (s,p)=1}}^{p^{\beta}} \lambda(rp^{\alpha-\beta} + 1) \bar{\lambda}(sp^{\alpha-\beta} + 1) = 0, \\
\quad s \equiv r \pmod{p^{\beta-1}}$$

and

$$(2.14) \quad \sum_{\substack{r=1 \\ (r,p)=1}}^{p^{\beta}} \sum_{\substack{s=1 \\ (s,p)=1}}^{p^{\beta}} \lambda(rp^{\alpha-\beta} + 1) \bar{\lambda}(sp^{\alpha-\beta} + 1) = 0. \\
\quad r sp^{\alpha-\beta} + r + s \equiv 0 \pmod{p^{\beta-1}}$$

Combining with (2.11)–(2.14), Lemma 2.3 can be proved. $\square$

LEMMA 2.4. *Let $p > 3$ be a prime with $(3, p-1) = 1$, α be a positive integer, n be any integer n with $(n, p) = 1$, λ be any character mod p^α . For any primitive character χ mod p^α , we have*

$$\left| \sum_{m=1}^{p^\alpha} \chi(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \right|^2 = p^{2\alpha} \left| \sum_{a=1}^{p^\alpha} \lambda(a) \bar{\chi}(a^3 - 1) \chi^3(a - 1) \right|^2.$$

Proof. Note that χ is a primitive character mod p^α , from the properties of Gauss sums we have

$$\begin{aligned} & \sum_{m=1}^{p^\alpha} \chi(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\ &= \sum_{a=1}^{p^\alpha} \lambda(a) \sum_{b=1}^{p^\alpha} \bar{\lambda}(b) \sum_{m=1}^{p^\alpha} \chi(m) e\left(\frac{m(a^3 - b^3) + n(a - b)}{p^\alpha}\right) \\ &= \sum_{a=1}^{p^\alpha} \lambda(a) \sum_{b=1}^{p^\alpha} \bar{\chi}^3(b) e\left(\frac{nb(a-1)}{p^\alpha}\right) \sum_{m=1}^{p^\alpha} \chi(m) e\left(\frac{m(a^3 - 1)}{p^\alpha}\right) \\ &= \chi^3(n) \tau(\bar{\chi}^3) \tau(\chi) \sum_{a=1}^{p^\alpha} \lambda(a) \bar{\chi}(a^3 - 1) \chi^3(a - 1). \end{aligned}$$

From this formula, we immediately deduce Lemma 2.4. $\square$

LEMMA 2.5. *Let $p > 2$ be a prime and $\alpha \geq 2$ be a positive integer. If λ is any primitive character mod p^α , we have*

$$\sum_{\substack{a=1 \\ (a(a-1), p)=1}}^{p^\alpha} \sum_{\substack{b=1 \\ (b(b-1), p)=1 \\ (ab-1)(b-a) \equiv 0 \pmod{p^\alpha}}}^{p^\alpha} \lambda(a) \bar{\lambda}(b) = p^{\alpha-1}(p-3).$$

Proof. It is clear that

$$\sum_{\substack{a=1 \\ (a(a-1), p)=1 \\ (ab-1)(b-a) \equiv 0 \pmod{p^\alpha}}}^{p^\alpha} \sum_{\substack{b=1 \\ (b(b-1), p)=1}}^{p^\alpha} \lambda(a) \bar{\lambda}(b) = \sum_{\substack{a=1 \\ (a(a+1), p)=1 \\ (ab+a+b)(b-a) \equiv 0 \pmod{p^\alpha}}}^{p^\alpha} \sum_{\substack{b=1 \\ (b(b+1), p)=1}}^{p^\alpha} \lambda(a+1) \bar{\lambda}(b+1).$$

From the second case of Lemma 1.4 in [6], we have

$$\sum_{\substack{a=1 \\ (a(a+1), p)=1 \\ (ab+a+b)(b-a) \equiv 0 \pmod{p^\alpha}}}^{p^\alpha} \sum_{\substack{b=1 \\ (b(b+1), p)=1}}^{p^\alpha} \lambda(a+1) \bar{\lambda}(b+1) = p^{\alpha-1}(p-3).$$

This immediately implies Lemma 2.5. $\square$

3. PROOF OF THEOREM 1.1

In this section, we complete the proof of Theorem 1.1. For any integer n with $(n, p) = 1$, from the orthogonality of the Dirichlet characters mod p^α , we have

$$(3.1) \quad \sum_{\chi \bmod p^\alpha} \left| \sum_{m=1}^{p^\alpha} \chi(m) \right| \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 = \phi(p^\alpha) \sum_{m=1}^{p^\alpha} \chi_0(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^4,$$

where χ_0 is the principal character mod p^α .

On the other hand, if $\alpha \geq 2$ and λ is a primitive character mod p^α , then from Lemmas 2.1–2.4 and the properties of primitive characters mod p^α , we also have

$$\begin{aligned} & \sum_{\chi \bmod p^\alpha} \left| \sum_{m=1}^{p^\alpha} \chi(m) \right| \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\ &= \sum_{\beta=1}^{\alpha-1} \sum_{\chi \bmod p^\beta}^* \left| \sum_{m=1}^{p^\alpha} \chi(m) \right| \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\ & \quad + \sum_{\chi \bmod p^\alpha}^* \left| \sum_{m=1}^{p^\alpha} \chi(m) \right| \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\ & \quad + \left| \sum_{m=1}^{p^\alpha} \chi_0(m) \right| \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \\ &= (p^{2\alpha} - 2p^{2\alpha-1})^2 + p^{4\alpha-2} + p^{4\alpha-1}(p-3) + \sum_{2 \leq \beta \leq \frac{1}{2}\alpha} (\phi(p^\beta) - \phi(p^{\beta-1})) p^{4\alpha-\beta} \\ & \quad + \sum_{\frac{1}{2}\alpha < \beta \leq \alpha-1} p^{4\alpha-2\beta} \phi^2(p^\beta) + p^{2\alpha} \sum_{\chi \bmod p^\alpha}^* \left| \sum_{a=1}^{p^\alpha} \lambda(a) \bar{\chi}(a^3 - 1) \chi^3(a-1) \right|^2 \\ &= \alpha p^{2\alpha} \phi^2(p^\alpha) - 3p^{3\alpha-1} \phi(p^\alpha) + p^{2\alpha} \sum_{\chi \bmod p^\alpha} \left| \sum_{a=1}^{p^\alpha} \lambda(a) \bar{\chi}(a^3 - 1) \chi^3(a-1) \right|^2 \end{aligned}$$

(3.2)

$$-p^{2\alpha} \sum_{\chi \bmod p^{\alpha-1}} \left| \sum_{a=1}^{p^\alpha} \lambda(a) \bar{\chi}(a^3-1) \chi^3(a-1) \right|^2.$$

By the orthogonality of the characters mod p^α and Lemma 2.5, we have

$$\begin{aligned}
 & \sum_{\chi \bmod p^\alpha} \left| \sum_{a=1}^{p^\alpha} \lambda(a) \bar{\chi}(a^3-1) \chi^3(a-1) \right|^2 \\
 &= \phi(p^\alpha) \sum_{\substack{a=1 \\ (a(a^3-1), p)=1}}^{p^\alpha} \sum_{\substack{b=1 \\ (b(b^3-1), p)=1}}^{p^\alpha} \lambda(a) \bar{\lambda}(b) \\
 &\quad (a^3-1)(b-1)^3 \equiv (b^3-1)(a-1)^3 \pmod{p^\alpha} \\
 &= \phi(p^\alpha) \sum_{\substack{a=1 \\ (a(a^3-1), p)=1}}^{p^\alpha} \sum_{\substack{b=1 \\ (b(b^3-1), p)=1}}^{p^\alpha} \lambda(a) \bar{\lambda}(b) \\
 &\quad (a-1)(b-1)(ab-1)(b-a) \equiv 0 \pmod{p^\alpha} \\
 (3.3) \quad &= \phi(p^\alpha) \sum_{\substack{a=1 \\ (a(a-1), p)=1}}^{p^\alpha} \sum_{\substack{b=1 \\ (b(b-1), p)=1}}^{p^\alpha} \lambda(a) \bar{\lambda}(b) = \phi(p^\alpha) p^{\alpha-1} (p-3),
 \end{aligned}$$

where the simple fact that $(a^3-1, p) = 1$ if and only if $(a-1, p) = 1$ is used.

Recalling (2.9), we have

$$\begin{aligned}
 & \sum_{\chi \bmod p^{\alpha-1}} \left| \sum_{a=1}^{p^\alpha} \lambda(a) \bar{\chi}(a^3-1) \chi^3(a-1) \right|^2 \\
 &= \phi(p^{\alpha-1}) \sum_{\substack{a=1 \\ (a(a^3-1), p)=1}}^{p^\alpha} \sum_{\substack{b=1 \\ (b(b^3-1), p)=1}}^{p^\alpha} \lambda(a) \bar{\lambda}(b) \\
 &\quad (a-1)(b-1)(ab-1)(b-a) \equiv 0 \pmod{p^{\alpha-1}} \\
 &= \phi(p^{\alpha-1}) \sum_{r=0}^{p-1} \sum_{s=0}^{p-1} \sum_{\substack{u=1 \\ (u(u^3-1), p)=1}}^{p^{\alpha-1}} \sum_{\substack{v=1 \\ (v(v^3-1), p)=1}}^{p^{\alpha-1}} \lambda(rp^{\alpha-1}+u) \bar{\lambda}(sp^{\alpha-1}+v) \\
 &\quad (u-v)(uv-1) \equiv 0 \pmod{p^{\alpha-1}} \\
 &= \phi(p^{\alpha-1}) \sum_{\substack{u=1 \\ (u(u^3-1), p)=1}}^{p^{\alpha-1}} \sum_{\substack{v=1 \\ (v(v^3-1), p)=1}}^{p^{\alpha-1}} \sum_{r=0}^{p-1} \lambda(rp^{\alpha-1}+u) \sum_{s=0}^{p-1} \bar{\lambda}(sp^{\alpha-1}+v) \\
 &\quad (u-v)(uv-1) \equiv 0 \pmod{p^{\alpha-1}} \\
 (3.4) \quad &= 0.
 \end{aligned}$$

Combining with (3.2)–(3.4), we obtain

$$\begin{aligned}
 & \sum_{\chi \bmod p^\alpha} \left| \sum_{m=1}^{p^\alpha} \chi(m) \right| \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^2 \Big|^2 \\
 &= \alpha p^{2\alpha} \phi^2(p^\alpha) - 3p^{3\alpha-1} \phi(p^\alpha) + p^{2\alpha} (\phi(p^\alpha) p^{\alpha-1} (p-3)) \\
 (3.5) \quad &= p^{2\alpha} \phi^2(p^\alpha) \left(\alpha + 1 - \frac{5}{p-1} \right).
 \end{aligned}$$

From (3.1) and (3.5), we deduce the identity

$$\sum_{m=1}^{p^\alpha} \chi_0(m) \left| \sum_{a=1}^{p^\alpha} \lambda(a) e\left(\frac{ma^3 + na}{p^\alpha}\right) \right|^4 = p^{2\alpha} \phi(p^\alpha) \left(\alpha + 1 - \frac{5}{p-1} \right).$$

This completes the proof of Theorem 1.1.

Acknowledgments. The authors would like to thank the anonymous referees for the useful comments, corrections and suggestions that improved the quality of this manuscript.

REFERENCES

- [1] H. Chen and T.P. Zhang, *On the fourth power mean of the analogous general Kloosterman sum*. J. Number Theory **160** (2016), 326–333.
- [2] H. Chen and T.P. Zhang, *The fourth power mean of general two-term exponential sums*. J. Shaanxi Normal Univ. Nat. Sci. Ed. **43** (2015), 5, 18–21.
- [3] T. Cochrane, J. Coffelt, and C. Pinner, *A further refinement of Mordell’s bound on exponential sums*. Acta Arith. **116** (2005), 1, 35–41.
- [4] T. Cochrane and C. Pinner, *Using Stepanov’s method for exponential sums involving rational functions*. J. Number Theory **116** (2006), 2, 270–292.
- [5] R. Duan and W.P. Zhang, *On the fourth power mean of the generalized two-term exponential sums*. Math. Rep. (Bucur.) **22(72)** (2020), 3–4, 205–212.
- [6] H.N. Liu, *On the mean values of the general Kloosterman sums*. Adv. Math. (China) **46** (2017), 5, 682–700.
- [7] T.T. Wang, *On the fourth power mean of generalized two-term exponential sums*. Bull. Korean Math. Soc. **50** (2013), 1, 233–240.
- [8] T.T. Wang, *On the fourth power mean of the generalized two-term exponential sums*. J. Shaanxi Normal Univ. Nat. Sci. Ed. **49** (2021), 6–12.
- [9] A. Weil, *On some exponential sums*. Proc. Nat. Acad. Sci. U.S.A. **34** (1948), 204–207.
- [10] Z.F. Xu, T.P. Zhang, and W.P. Zhang, *On the mean value of the two-term exponential sums with Dirichlet characters*. J. Number Theory **123** (2007), 2, 352–362.
- [11] H. Zhang and W.P. Zhang, *The fourth power mean of two-term exponential sums and its application*. Math. Rep. (Bucur.) **19(69)** (2017), 1, 75–83.
- [12] J. Zhang and W.P. Zhang, *A certain two-term exponential sum and its fourth power means*. AIMS Math. **5** (2020), 6, 7500–7509.

- [13] W.P. Zhang and X. Lin, *On the fourth power mean of the generalized quadratic Gauss sums*. Acta Math. Sin. (Engl. Ser.) **34** (2018), 6, 1037–1049.
- [14] W.P. Zhang and Y.Y. Meng, *On the sixth power mean of the two-term exponential sums*. Acta Math. Sin. (Engl. Ser.) **38** (2022), 3, 510–518.

Received 1 July 2023

Yaya Mu
Shaanxi Normal University
School of Mathematics and Statistics
Xi'an, 710119, Shaanxi, P. R. China
muyaya@snnu.edu.cn

Tianping Zhang
Shaanxi Normal University
School of Mathematics and Statistics
Xi'an, 710119, Shaanxi, P. R. China
and
Northwest University
Research Center for Number Theory and Its
Applications
Xi'an, 710127, Shaanxi, P. R. China
tpzhang@snnu.edu.cn